SEQUENCES & PATTERNS
1.
Choose the term to be used in continuing the pattern stated below.




A3 Z38,  B5 Y36,  C7 X34,  D9 W32,  ___________

2.
What number completes the pattern?  1, 6, 16, 36, _____, 156

3.
Complete the pattern with a number and a word.


     1-inch, 2-feet, 3-yards, 1-millimeter, 2-centimeters  ___  ______________

4.
Complete the pattern:  1+31, 2+28, 3+31, 4+30, 5+31, 6+__, 7+___, 8+___

5.
Which number comes next in the pattern?  2, 5, 10, 17, 26 ___

A. 29

B. 35

C. 37

D. 39

E. NH

6.
Crystal placed two stars in the first row, four stars in the second row and

six stars in the third row.  If this same pattern continues, how many stars will Crystal place in the 7th row?


                                                                                        

A. 12

 B. 14

C. 16
 
D. 21

E. NH

7.      Which number should be next in the sequence?  1, 4, 16, 64, _______
A. 128 

B. 256

C. 84

D. 108 

E. NH

8. Which is the next two figures in the pattern below?



A. Line; right angle

B. Ray; acute angle

C. Line segment; acute angle

D. Right angle; line segment

E. NH

9. A baby giraffe measures 6 ft. tall when it is born.  If the baby giraffe grows 4 

feet every year, how old will it be when it reaches 34 feet tall?


A. 5 yrs. 
B. 12 yrs. 
C. 4 yrs.
D. 7 yrs.
E. NH

10. Macy saved a dime from her lemonade sell.  Each day the amount  

doubled.  How much would she have saved on the sixth day? 


A.  $.20
B.  $3.20
C.  $.60 
D.  $1.30
E. NH

11. What numbers complete the following pattern:

31, 28, 31, 30, 31, 30, 31, 31, 30, ____, ______, ______.

12. What are the last two numbers of the pattern? 

28, 33, 30, 35, _____, _____.

13. Ms. Smith gave her son $.04 for 15 days.  The amount of money doubled each

day.  $.04, $.08, $.16,….  Find the amount for the eighth day.

14. Complete the pattern:  1, 1, 2, 4, 8, ____, ____, _____.

15.
Complete the pattern:  21, 30, 23, 28, ____, ​​____. 

16.
What is the rule for this pattern?   12, 9, 14,  11,  16, 13


A.  Subtract 3, then add 4

B.  Subtract 5, then add 3


C.  Subtract 3, then add 6

D.  Subtract  3, then add 5


E.  NH

17.
What are the missing numbers in this pattern?

	Tree’s Age
	 10 years old
	12 years old
	14 years old
	    ?

	 Height
	 4 feet
	7 feet
	12 feet
	    ?


18.
Complete the fraction pattern:
3/8, 6/16, 12/ 32, ____, _____,


A.  24/60; 32/120;
B.  24/64;   48/128
C.  24/64;  48/256


D.  18/36;  36/72
E.  NH

 19.
Identify the next two figures in the pattern below?





A.  Parallelogram, Rhombus


B.  Square, Parallelogram


C.  Pentagon, Parallelogram


D.  Parallelogram, Trapezoid


E.  NH

20.
Look at the pattern relationship.   Fill out the missing numbers to 

complete the pattern.


13 X 11 = 143;    14 X 11 = 151;   17 X 11 = 187;      ____ X 11 = _____


SEQUENCE AND PATTERNS ANSWER SHEET

1.
Choose the term to be used in continuing the pattern stated below.


Step 1  A,B,C,D& E increasing with odd numbers 3,5,7,…


Step 2  Z,Y,X,W&V decreasing with even numbers 38,36, 34


Therefore, the answer is E11 V30



A3 Z38,  B5 Y36,  C7 X34,  D9 W32,  ___E11 V30________

2.
What number completes the pattern?  1, 6, 16, 36, _76____, 156


Step 1  Double the missing number .  Start with 5.  (5, 10, 20, 40)

3.
Complete the pattern with a number and a word.


     1-inch, 2-feet, 3-yards, 1-millimeter, 2-centimeters  _3__  decimeters___

4.
Complete the pattern:  1+31, 2+28, 3+31, 4+30, 5+31, 6+__, 7+___, 8+___

Step 1  The pattern is the months of the year.  Jan 31, Feb 28, Mar 31….



Therefore, the answer is  6+30, 7+31, 8+31

5.
Which number comes next in the pattern?  2, 5, 10, 17,  26_____

            Step 1  The pattern is:  3 + 5 + 7 + 9 and 11 should be added to 26 = 37



Therefore, the answer is 37

A.  29

B.  35

C.  37

D.  39 
 
E.  NH

6.         Crystal placed two stars in the first row, four stars in the second row and

six stars in the third row.  If this same pattern continues, how many stars will Crystal place in the 7th row?


                                                                                        


A.  12

          B.   14

       C.  16

 D.  21


The pattern shows an increase of two per row:  2 x 7 = 14

 
Therefore, the answer is 14

7.         Which number should be next in the sequence?  1, 4, 16, 64, _______

The sequence of these numbers is multiplied by 4:  64 x 4 = 256



Therefore, the answer is 256.

A. 128 

B. 256

C. 84

D. 108 

E. NH

8.   Which is the next two figures in the pattern below?



All of the figures above are geometric figures. The figures are from left to right are as follows:  a. ray, b. line segment, c. an acute angle, d. right 

                                    angle, and e. line f. ray

Therefore, the next two figures are line segment and an acute angle.

So, the answer is C.

A.   line; right angle

B.   ray; acute angle

C.   line segment; acute angle
D.   right angle; line segment

E.   NH

9.
A baby giraffe measures 6 ft. tall when it is born.  If the baby giraffe grows 4 

feet every year, how old will it be when it reaches 34 feet tall?


SOLUTION:  To solve the problem we will add 4 to 6 and continue




 adding 4 to the sum until we reach 34 feet. 





6 + 4 = 10 ;  10 + 4 = 14  ;  …




So, the answer is D :  at 34 feet tall, the giraffe would be 7 years 







 old.

	AGE
	At Birth
	 1 year    
	2 years
	3 years
	4 years 
	5 years
	6 years
	7 years

	HEIGHT
	6 feet
	10 feet
	14 feet
	18 feet
	22 feet
	26 feet
	30 feet
	34 feet



A. 5 yrs. 
B. 12 yrs. 
C. 4 yrs.
D. 7 yrs. 
E. NH

10. 
Macy saved a dime from her lemonade sell.  Each day the amount  

doubled.  How much would she have saved on the sixth day?

    SOLUTION:  The amount doubles each day.




      .10 to .10  



First Day:
  .10 

Second Day:
  .10 + .10 = $.20 



Third Day:  .20 + .20 = .40
Fourth Day:    .40 + .40 = .80



Fifth Day:   .80 + .80 = $1.60  Sixth Day:  1.60 + 1.60 = $3.20

So, the answer is B:  $1.60 + $1.60 = $3.20


A. $.20

B. $3.20
C. $.60 
D. $1.30
E. NH

11.      What numbers complete the following pattern:

31, 28, 31, 30, 31, 30, 31, 31, 30, ____, ______, ______.


SOLUTION:  Let’s look at the numbers very closely.  These numbers 




 should not surprise you; they represent the total 




 numbers of days in each month.



Jan.:  31 days



Feb.:  28 days



Mar.: 31 days

The list goes on and on until we get to December.


So, the remaining numbers are as follows:  31, 30, and 31.

12.      What are the last two numbers of the pattern? 

28, 33, 30, 35, _____, _____.



SOLUTION :  The pattern is as follows:  add 5 and then subtract 3.





  With this in mind the last two numbers are as follows:






32 & 37. 

13.
Ms. Smith gave her son $.04 for 15 days.  The amount of money doubled each

day.  $.04, $.08, $.16,….  Find the amount for the eighth day.


SOLUTION:  If the amount of money Mrs. Smith’s son has doubles




each day, the amount would be on the eighth day



.04, .08, .16, .32, .64, 1.28, 2.56, 5.12



Day Eight = $5.12


14.
Complete the pattern:  1, 1, 2, 4, 8, ____, ____, _____.

SOLUTION:  The pattern doubles.  So, the answer would be 

16, 32, & 64.

15.
Complete the pattern:  21, 30, 23, 28, ____, ​​____. 

SOLUTION:  The pattern is  in ascending and descending order. 

            Add 9 and subtract 7.    21 + 9 = 30 – 7  = 23


Add 5 and subtract 3     23 + 5 = 28 – 3  = 25


Add 1


     25 + 1 =  26

Therefore, the remaining numbers are 25 and 26.

16.
What is the rule for this pattern?   12, 9, 14,  11,  16, 13


A.  Subtract 3, then add 4

B.  Subtract 5, then add 3


C.  Subtract 3, then add 6

D.  Subtract  3, then add 5

E.  NH

17.
What are the missing numbers in this pattern?

	Tree’s Age
	 10 years old
	12 years old
	14 years old
	   16

	 Height
	 4 feet
	7 feet
	12 feet
	   19


18.
Complete the fraction pattern:
3/8, 6/16, 12/ 32, 24/64, 48/128,

A.  24/60; 32/120;
B.  24/64;   48/128
C.  24/64;  48/256


D.  18/36;  36/72
E.  NH

Step 1:
  Double the numerator and the denominator of each succeeding 

  fraction.  

 19.
Identify the next two figures in the pattern below?





A.  Parallelogram, Rhombus


B.  Square, Parallelogram


C.  Pentagon, Parallelogram


D.  Parallelogram, Trapezoid

E.  NH

20.
Look at the pattern relationship.   Fill out the missing numbers to 

complete the pattern.


13 X 11 = 143;    14 X 11 = 151;   17 X 11 = 187;      22 X 11 = 242



Step 1:
  13 + 1 = 14; 14 + 3 = 17; 17 + 5 = 22



  This pattern is showing odd numbers in ascending order.


Step 2:  Multiply each number by 11 using Walker’s method

